Assignment 4:
Object Classification



Input

airplane  bubterfly  camera  helicopter

Also: Lotus, pav\da, pizza, ijramid, snoopy, yin-yang



Your Task

images, 1oxR0o test images

10 cateqgories, 10x10 brai



Results

Overall success rate: 0.50

PrEhE 1 dialr .suceess rates:

airplane: P85
butterfly: e
camera: Q535
helicopter: 0.40
lotuss Q.68
panda: 0. 1@
piiidag 05,8
pyramid: 0.60
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riptors
Random Window
Harris Sift
Sift Eke.
ebe.

Should be familiar bj NoOw...



¢ A Gl L
,»,5{‘7? AR

3%
\ i
VHP b R L




SR ™, Codeword 1

Codeword 2

Codeword 3 | N °
Codeword 4
Codewords
A




API Tips

[IDX," C] = kme&ans (&)

[. .. [P kmeange ... ., paraml yall, parame sva ;.. . .)

EAction to takei T aficlllster lI'oSEr BB IRIt st membetr
Eobservations.
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o g (default) .
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Classity

compurte

DeSscriprors




Nalve Bayes

p(Ci) ()
p(p17p27 .. )

p(Ci‘plap%"') P(Pl,Pz,---‘Ci)

(2)

H p(p;|Ci) ©))

(1) - Bayes formula
(2) - Assume equal class priors, dont care about normalization.
(3) - Assume independent descriptors



Nalve Bayes

p(Ci‘phPZ, . ) o Hp(pj|ci)

J

)
Eskimated class: KB mlax HP(leci)
J

CECR TR LR p(p;|C) B count (p; € training(C;)) .

2 more practical modifications...



Prevent
Zero
counks

Prevent
overflow

Nalve Bayes

>3 count(p; € training(C;))
D,
4 1 + count(p; € training(C;))

Estinated class: EEEE 2108(1 + count(p; € training(C;)))




